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Question Id : 68634045059 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634045060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340178001. 1

686340178002. 2

686340178003. 3
686340178004. 4

Question Number : 2 Question Id : 68634045061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340178005. 1
686340178006. 2
686340178007. 3
686340178008. 4



Question Number : 3 Question Id : 68634045062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401780009. 1
686340178010. 2

686340178011. 3
686340178012. 4

Question Number : 4 Question Id : 68634045063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340178013. 1
686340178014. 2

686340178015. 3
686340178016. 4

Question Number : 5 Question Id : 68634045064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340178017. 1
686340178018. 2
686340178019. 3
686340178020. 4

Question Id : 68634045059 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634045060 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340178001. 1
686340178002. 2
686340178003. 3
686340178004. 4

Question Number : 2 Question Id : 68634045061 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340178005. 1
686340178006. 2
686340178007 3
686340178008. 4

Question Number : 3 Question Id : 68634045062 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340178009. 1
686340178010. 2
686340178011. 3
686340178012. 4

Question Number : 4 Question Id : 68634045063 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340178013. 1
686340178014. 2
686340178015. 3



686340178016. 4

Question Number : 5 Question Id : 68634045064 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and tallkies were destined to become obsolete
4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340178017. 1
686340178018. 2
686340178019. 3
686340178020. 4

Sub-Section Number : 2
Sub-Section Id : 6863401470
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634045065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood in Dartmoor National Park

1.LAB.C.D

[ ]

DCB.A
3.B.D.A.C
4.C,A,D,B

Options :

686340178021. 1
686340178022. 2
686340178023. 3
686340178024. 4



Question Number : 6 Question Id : 68634045065 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood in Dartmoor National Park

LABC.D

| )

.D,C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340178021. 1
686340178022. 2
686340178023. 3
686340178024. 4

Question Number : 7 Question Id : 68634045066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

fa—y

. Epigraphy

[ )

. Calligraphy

Lad

. Cartography

=

. Topography

Options :

686340178025. 1
686340178026. 2
686340178027. 3
686340178028. 4

Question Number : 7 Question Id : 68634045066 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340178025. 1
686340178026. 2
686340178027. 3
686340178028. 4

Question Number : 8 Question Id : 68634045067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340178029. 1
686340178030. 2
686340178031. 3
686340178032. 4

Question Number : 8 Question Id : 68634045067 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340178029. 1
686340178030. 2



686340178031. 3
686340178032. 4

Question Number : 9 Question Id : 68634045068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correct pair of prepositions to fill in the blanks of the following sentence:

She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340178033. 1

686340178034. 2

686340178035. 3
686340178036. 4

Question Number : 9 Question Id : 68634045068 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside
4. with. on
Options :
686340178033. 1
686340178034. 2

686340178035. 3
686340178036. 4

Question Number : 10 Question Id : 68634045069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340178037. 1
686340178038. 2
686340178039. 3
686340178040. 4

Question Number : 10 Question Id : 68634045069 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340178037. 1
686340178038. 2
686340178039. 3
686340178040. 4



Question Number : 11 Question Id : 68634045070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340178041. 1
686340178042. 2
686340178043. 3
686340178044. 4

Question Number : 11 Question Id : 68634045070 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340178041. 1
686340178042. 2
686340178043. 3
686340178044. 4

Question Number : 12 Question Id : 68634045071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340178045. 1
686340178046. 2
686340178047. 3
686340178048. 4

Question Number : 12 Question Id : 68634045071 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340178045. 1
686340178046. 2
686340178047. 3
686340178048. 4

Question Number : 13 Question Id : 68634045072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

L P58 BFEE
2. 10:9
3. 114:113

4, 196:187

Options :

686340178049. 1
686340178050. 2
686340178051. 3
686340178052. 4

Question Number : 13 Question Id : 68634045072 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11
2. 10:9
3. 114:113

4. 196:187

Options :

686340178049. 1
686340178050. 2
686340178051. 3
686340178052. 4

Question Number : 14 Question Id : 68634045073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year,
payable half yearly and the simple interest for 1 year is ¥ 56. The sum 1s:

1.2 5,780

[ ]
AH
=
e}
=
F



Options :

686340178053. 1
686340178054. 2
686340178055. 3
686340178056. 4

Question Number : 14 Question Id : 68634045073 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.3 5,780
2.3 7.805
3.2 7.850
4,3 8,750
Options :
686340178053. 1
686340178054. 2

686340178055. 3
686340178056. 4

Question Number : 15 Question Id : 68634045074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys 1s 22 years. Eight times the age of the youngest of them 1s 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he 1s 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years
4. 28 years
Options :
686340178057. 1
686340178058. 2

686340178059. 3
686340178060. 4

Question Number : 15 Question Id : 68634045074 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 vears

| )

. 25 years
3. 26 years
4. 28 years
Options :
686340178057. 1
686340178058. 2

686340178059. 3
686340178060. 4

Question Number : 16 Question Id : 68634045075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing,

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340178061. 1
686340178062. 2
686340178063. 3
686340178064. 4

Question Number : 16 Question Id : 68634045075 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows

Options :

686340178061. 1
686340178062. 2
686340178063. 3
686340178064. 4

Question Number : 17 Question Id : 68634045076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340178065. 1
686340178066. 2
686340178067 3
686340178068. 4

Question Number : 17 Question Id : 68634045076 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340178065. 1
686340178066. 2
686340178067 3
686340178068. 4

Question Number : 18 Question Id : 68634045077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340178069. 1
686340178070. 2
686340178071. 3
686340178072. 4

Question Number : 18 Question Id : 68634045077 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340178069. 1
686340178070. 2
686340178071. 3
686340178072. 4

Question Number : 19 Question Id : 68634045078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the mirror image of the given combination
"ANS4WMG3"
LEOMWEREZHMA
ZEDWMPSNY
33GWMt2 MV
41 ECWMYPIUY
Options :
686340178073. 1
686340178074. 2

686340178075. 3
686340178076. 4

Question Number : 19 Question Id : 68634045078 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340178073. 1
686340178074. 2
686340178075. 3
686340178076. 4

Question Number : 20 Question Id : 68634045079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340178077. 1
686340178078. 2
686340178079. 3
686340178080. 4

Question Number : 20 Question Id : 68634045079 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340178077. 1
686340178078. 2
686340178079. 3
686340178080. 4

Question Number : 21 Question Id : 68634045080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite
4. INSAT
Options :
686340178081. 1
686340178082. 2

686340178083. 3
686340178084. 4

Question Number : 21 Question Id : 68634045080 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340178081. 1
686340178082. 2
686340178083. 3
686340178084. 4

Question Number : 22 Question Id : 68634045081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340178085. 1
686340178086. 2
686340178087. 3
686340178088. 4

Question Number : 22 Question Id : 68634045081 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. AIIL, B-IV, C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340178085. 1
686340178086. 2
686340178087. 3
686340178088. 4

Question Number : 23 Question Id : 68634045082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

[F%]

. Interpellation
4. Yielding the floor

Options :

686340178089. 1
686340178090. 2
686340178091. 3
686340178092. 4

Question Number : 23 Question Id : 68634045082 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor

Lad

. Interpellation
4. Yielding the floor

Options :

686340178089. 1
686340178090. 2
686340178091. 3
686340178092. 4

Question Number : 24 Question Id : 68634045083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. A-II B-TV, C-1, D-1II

Options :

686340178093. 1
686340178094. 2
686340178095. 3
686340178096. 4

Question Number : 24 Question Id : 68634045083 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340178093. 1
686340178094. 2
686340178095. 3
686340178096. 4

Question Number : 25 Question Id : 68634045084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4, Epicentre

Options :

686340178097. 1

686340178098. 2

686340178099. 3
686340178100. 4

Question Number : 25 Question Id : 68634045084 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340178097. 1
686340178098. 2
686340178099. 3
686340178100. 4

Part B: Yoga
Section Id : 686340888
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401471
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 68634045085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many sutras are there in Patanjali Yoga Sutra?

1.194

b2

196
3.197
4,198

Options :

686340178101. 1
686340178102. 2
686340178103. 3
686340178104. 4



Question Number : 26 Question Id : 68634045085 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TSIt A g B A g @ 2

1.194

|

. 196
3. 197

4. 198

Options :

686340178101. 1
686340178102. 2
686340178103. 3
686340178104. 4

Question Number : 27 Question Id : 68634045086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following kosha is correlated with gross body?

1. Annamayakosha
2. Anandamayakosha
3. Pranamayakosha
4. Manomayakosha

Options :

686340178105. 1

686340178106. 2

686340178107. 3
686340178108. 4

Question Number : 27 Question Id : 68634045086 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et o 9 food @19 &1 T Hifde IR E 2

1. 3FHT HIY

| )

<Y By

HI0THY &Y

L
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Options :

686340178105. 1
686340178106. 2
686340178107. 3
686340178108. 4

Question Number : 28 Question Id : 68634045087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Asanas are described in detail by Svatmarana in Hatayoga Pradeepika?

1,15

b

10
0
4,12

Options :

686340178109. 1
686340178110. 2
686340178111. 3
686340178112. 4

Question Number : 28 Question Id : 68634045087 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SoUN Ui ¥ WIERM §RI fdas 5= &1 qui- fear man g -

115

b2

10
3.32
4. 12

Options :
686340178109. 1



686340178110. 2
686340178111. 3
686340178112. 4

Question Number : 29 Question Id : 68634045088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is related with Yogic Mudras and locks?

1. Asana
2. Pranayama
3. Mudra and Bandh
4. Neti

Options :

686340178113. 1

686340178114. 2

686340178115. 3
686340178116. 4

Question Number : 29 Question Id : 68634045088 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 3 1 SH-a1 e gg ok =i § 9fd g 2

1. AT

[ ]

T
HaT SRR
4. Afd

Options :

686340178113. 1
686340178114. 2
686340178115. 3
686340178116. 4

[FS]

Question Number : 30 Question Id : 68634045089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Sanskrit root 'aas' stands for............ 7

1. Aparigraha

| B

. Asampragyata
3. Asana
4. Abhava
Options :
686340178117. 1
686340178118. 2

686340178119. 3
686340178120. 4

Question Number : 30 Question Id : 68634045089 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TP ¥Tq <A T T g § 2
1. $ORTR
. SHHTRITA

| )

3.3 A

4. 3HId

Options :

686340178117. 1
686340178118.2
686340178119. 3
686340178120. 4

Question Number : 31 Question Id : 68634045090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Sukshma Vyayamas are mentioned in Yogic Sukshma Vyayama book written by Swami Dhirendra
Brahmachari?

1. 46

| B

.47
3. 48
4.49

Options :
686340178121. 1



686340178122. 2
686340178123. 3
686340178124. 4

Question Number : 31 Question Id : 68634045090 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wl = FeERT gRT R 115 g dile Y& o 1 fdbd- Y& oramHl o 3w g 2

1. 46

|

.47
3. 48
4. 49

Options :

686340178121. 1
686340178122. 2
686340178123. 3
686340178124. 4

Question Number : 32 Question Id : 68634045091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many types of diets are described in Shrimadbhagavad Gita?

1.1

b=
| ]

4.4

Options :

686340178125. 1
686340178126. 2
686340178127. 3
686340178128. 4

Question Number : 32 Question Id : 68634045091 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



strguaaiar & f&a- UeR & SMeRI &1 aui fasar T g 2

1.1

[
| B

4.4

Options :

686340178125. 1
686340178126. 2
686340178127. 3
686340178128. 4

Question Number : 33 Question Id : 68634045092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following practice is recommended. if doshas are not in balance according to Hathyoga
Pradipika?

1. Shatkarma

2. Mudra

3. Nadi Shuddhi

4. Bandha
Options :
686340178129. 1
686340178130. 2

686340178131. 3
686340178132. 4

Question Number : 33 Question Id : 68634045092 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BOUNT HEIiUe] & SIHR dfe N Fferd 16l 8. 1l e § 3 [y s Pl dfi #1188 2
1. Yoo
Retl
AR

4. €Y

| )

L]

Options :



686340178129. 1
686340178130. 2
686340178131. 3
686340178132. 4

Question Number : 34 Question Id : 68634045093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Name of the fourth chapter of Hath Pradeepika?

1. Shatkarma Vidhi Kathana

2. Asana Vidhi Kathana

[F5]

. Mudra Vidlu Kathana

4. Samadhi Lakshana

Options :

686340178133. 1
686340178134. 2
686340178135. 3
686340178136. 4

Question Number : 34 Question Id : 68634045093 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

£6 Yalie 4 9q) S BT A g -
1. We&H faft vy

3 A syA

| )

L]

garfaf @y
4. FHITY TE0T

Options :

686340178133. 1
686340178134. 2
686340178135. 3
686340178136. 4

Question Number : 35 Question Id : 68634045094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Astika Darshana (Theistic Philosophy)are there in Indian literature?

1.3

b2
=Y

4.6

Options :

686340178137. 1
686340178138. 2
686340178139. 3
686340178140. 4

Question Number : 35 Question Id : 68634045094 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 23 | foaq S1fis <3 8 2

L3

| )

4

4.6

Options :

686340178137. 1
686340178138. 2
686340178139. 3
686340178140. 4

Question Number : 36 Question Id : 68634045095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Yoga 1s Samadhi' given by
1. Maharshi Patanjali
2. Maharshi Ramana
3. Maharshi Vyasa
4. Maharshi Valmiki
Options :

686340178141. 1
686340178142. 2



686340178143. 3
686340178144. 4

Question Number : 36 Question Id : 68634045095 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T g 941 g & GRI U Targ |
1. e esifer
2. Hgfd <\
3. Wi &g
4. HfY arfchet
Options :
686340178141. 1
686340178142. 2

686340178143. 3
686340178144. 4

Question Number : 37 Question Id : 68634045096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The defimition "Yogaschittavrittinirodha" 1s mentioned in which of the text book?

1. Patanjali Yoga Sutra
2. Hatha Pradeepika
3. Gheranda Sambhita
4. Shrimad Bhagawadgita

Options :

686340178145. 1

686340178146. 2

686340178147. 3
686340178148. 4

Question Number : 37 Question Id : 68634045096 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178145. 1
686340178146. 2
686340178147. 3
686340178148. 4

Question Number : 38 Question Id : 68634045097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many chapters are there in Shrimadbhagawadgita?

1.12

b2

.14
3. 16
4. 18

Options :

686340178149. 1
686340178150. 2
686340178151. 3
686340178152. 4

Question Number : 38 Question Id : 68634045097 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gagirraafial d fa- st g 2

1.12

|

.14
3.16
4. 18

Options :
686340178149. 1



686340178150. 2
686340178151. 3
686340178152. 4

Question Number : 39 Question Id : 68634045098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The meaning of phrase "Nasti Yogat Param Balam"... is:

1. There 1s no power like Yoga.

| )

. There 1s no power in Yoga.
3. Yogic practices do not give power.
4. There 1s no chance of attaining power through Yoga.

Options :

686340178153. 1
686340178154. 2
686340178155. 3
686340178156. 4

Question Number : 39 Question Id : 68634045098 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T TS TRE SaH e o7 3fef g
1. TN & qeU ®Is e T8l § |
2. M A Bl% e a1 © |
3. TR Sl e T8l a1 §
4. T & H1eE H Wied It &1 H1g SR 181 ¢ |

Options :

686340178153. 1
686340178154. 2
686340178155. 3
686340178156. 4

Question Number : 40 Question Id : 68634045099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The benefit of Yogasana mentioned in Gheranda Sambhita is

1. Cleanliness

| B

. Lightness
3. Stability
4. Strength

Options :

686340178157. 1
686340178158. 2
686340178159. 3
686340178160. 4

Question Number : 40 Question Id : 68634045099 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

tRe Gl g gRI fPg Ty SIS & 2

1 &
DI
R
4. Qifad

Options :

686340178157. 1
686340178158. 2
686340178159. 3
686340178160. 4

| ]

L

Question Number : 41 Question Id : 68634045100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following is one of the astika darshan according Indian Philosophy?
1. Patanjali Yoga sutra
2. Hatha Pradeepika

3. Gheranda Samhita

4. Vashishtha Samhita

Options :
686340178161. 1



686340178162. 2
686340178163. 3
686340178164. 4

Question Number : 41 Question Id : 68634045100 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR &= & AR A= A HH WU e a0

1. UcTsifel gRT 94
2. §3 iU
3. O8S dfegar
4. gferg Gfgdr

Options :

686340178161. 1

686340178162. 2

686340178163. 3
686340178164. 4

Question Number : 42 Question Id : 68634045101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which one of the following is not a part of Ashtangayoga of Patanjali?
1. Shatkarma
2. Yama
3. Niyama
4. Pratyahara

Options :

686340178165. 1
686340178166. 2
686340178167. 3
686340178168. 4

Question Number : 42 Question Id : 68634045101 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. UATER

Options :

686340178165. 1
686340178166. 2
686340178167. 3
686340178168. 4

Question Number : 43 Question Id : 68634045102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The shloka "Samatvam Yoga ucyate” is taken from which chapter of Bhagawadgita?

1. First chapter

[

. Second chapter

L]

. Third chapter
4. Fifth chapter

Options :

686340178169. 1
686340178170. 2
686340178171. 3
686340178172. 4

Question Number : 43 Question Id : 68634045102 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@Y TF 3q° TaiP WG ial & fod e 9 e g 2
1. GUT Y
2. T sram
3. AT 31T

4. U9H AT

Options :



686340178169. 1
686340178170. 2
686340178171. 3
686340178172. 4

Question Number : 44 Question Id : 68634045103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many Nadis are there in Human body according to Shiva Samhita?

|
N
£
b=

e

4. 35000

Options :

686340178173. 1
686340178174. 2
686340178175. 3
686340178176. 4

Question Number : 44 Question Id : 68634045103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f3ra |l & S8R AHd TRR J faa- A1isai g 2

1. 72000

| ]

. 3.5d9
3. 7200
4. 35000

Options :

686340178173. 1
686340178174. 2
686340178175. 3
686340178176. 4

Question Number : 45 Question Id : 68634045104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



How many Asanas are mentioned in details in Shiva Samhita?

1.1

[
| ]

4.4

Options :

686340178177. 1
686340178178. 2
686340178179. 3
686340178180. 4

Question Number : 45 Question Id : 68634045104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g Tfgar & fipam ama @1 fasqd S & 2

; B |

L
| )

4.4
Options :
686340178177. 1
686340178178. 2

686340178179. 3
686340178180. 4

Question Number : 46 Question Id : 68634045105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
In which Upanishada. the five Kosha's are mentioned?
1. Kenopanishada
2. Kathopnishad
3. Swetashwetaropanishada
4. Taittariyopanishada
Options :

686340178181. 1
686340178182. 2



686340178183. 3
686340178184. 4

Question Number : 46 Question Id : 68634045105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fopg Bulyg & U=eiNl 1 Iecid a1 T g 2
1. BAafEg

1

Options :

686340178181. 1
686340178182. 2
686340178183. 3
686340178184. 4

Question Number : 47 Question Id : 68634045106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the meaning of 'Ha' in Hathayoga?

1. Hakar (Surya Nadi)

| )

. Thakar (Chandra Nadi)

T

. Akar (Madhya Nadi)
4. Ukar (Sushmna Nadi)

Options :

686340178185. 1
686340178186. 2
686340178187. 3
686340178188. 4

Question Number : 47 Question Id : 68634045106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178185. 1
686340178186. 2
686340178187. 3
686340178188. 4

Question Number : 48 Question Id : 68634045107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following Veda is related to Aitareya Aranyaka?
1. Atharvaveda

. Yajurveda

[ B

3. Samveda

4. Rigveda
Options :
686340178189. 1
686340178190. 2

686340178191. 3
686340178192. 4

Question Number : 48 Question Id : 68634045107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 T 9 31 § 3 &1 T T SRS § 8 2
1. 3{udag
R
R IEEC T
4. F14g

Options :

| )

L]



686340178189. 1
686340178190. 2
686340178191. 3
686340178192. 4

Question Number : 49 Question Id : 68634045108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What are the Mahavratas according to Patanjali Yoga Sutra?
1. Niyamas only
2. Yamas only
3. Yama and Niyama
4. Yama. Niyama and Mitahara
Options :
686340178193. 1
686340178194. 2

686340178195. 3
686340178196. 4

Question Number : 49 Question Id : 68634045108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
il I A & IR TEEd |G 2
1. daq Ham
. $ad TH
. gH g e
. gH, f5aH 7 fdeR

| )

[#%]

=

Options :

686340178193. 1
686340178194. 2
686340178195. 3
686340178196. 4

Question Number : 50 Question Id : 68634045109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following text book talks about Saptanga Yoga?
1. Siddha-Siddhant Paddhati

2. Hath Ratnawali

LF¥]

. Hathpradipika
4. Gherand Sambhita

Options :

686340178197. 1
686340178198. 2
686340178199. 3
686340178200. 4

Question Number : 50 Question Id : 68634045109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 T 9 &1 <t UTegdRas Jwii AT & aR 1 auiH SRl § 2
1. Fg-Rgrd ugla
.6 Icraci!
. 66 UgIfueT
Options :
686340178197. 1
686340178198. 2

686340178199. 3
686340178200. 4

| )

[#5]
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Question Number : 51 Question Id : 68634045110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which 1s not included in major Upanishads?
1. Yogopanishad
2. Brahadaranyaka Upanishad
3. Ishavasyopanishad

4. Kenopanishad

Options :
686340178201. 1



686340178202. 2
686340178203. 3
686340178204. 4

Question Number : 51 Question Id : 68634045110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 9 fohgep! g Suval § it ei fhar s 2

1. GTgHYg

 SRTARI NG
4, HAYHYG

-

[

L]

Options :

686340178201. 1
686340178202. 2
686340178203. 3
686340178204. 4

Question Number : 52 Question Id : 68634045111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which 1s included in major Upanishads?

1. Yogopanishad

| B

. Yogachudamani
3. Maitrayani Upanishad
4. Chhandogyaupanishad

Options :

686340178205. 1
686340178206. 2
686340178207. 3
686340178208. 4

Question Number : 52 Question Id : 68634045111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| )

[FN]

=

Options :

686340178205. 1
686340178206. 2
686340178207. 3
686340178208. 4

Question Number : 53 Question Id : 68634045112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who has written Hatharathnavali?
1. Swami Swatmaram
2. Maharshi Gherand
3. Shrinivas Bhatta
4. Guru Gorakhnath
Options :
686340178209. 1
686340178210. 2

686340178211. 3
686340178212. 4

Question Number : 53 Question Id : 68634045112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
©6 YoAIadl [baH fordl g 2
1. WHl WERM
RIS
 ifarg yg
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[ ]
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Options :



686340178209. 1
686340178210. 2
686340178211. 3
686340178212. 4

Question Number : 54 Question Id : 68634045113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Sankhyakarika' text book written by

1. Maharshi Kapila

[ )

. Pt. Shri Ram Sharma Acharya
3. Ishwar Krishna

4. Shrinivas Bhatta

Options :

686340178213. 1
686340178214. 2
686340178215. 3
686340178216. 4

Question Number : 54 Question Id : 68634045113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i BN UIEIIHID RIS 8 |

4. Fifarg wg

Options :

686340178213. 1
686340178214. 2
686340178215. 3
686340178216. 4

Question Number : 55 Question Id : 68634045114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which Yoga text book is written by Vachaspathi Mishra?
1. Vyas Bhashya
2. Tattva Vaisharidi
3. Yoga Sar Sangrah
4. Maniprabha

Options :

686340178217. 1
686340178218. 2
686340178219. 3
686340178220. 4

Question Number : 55 Question Id : 68634045114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

argald Y1 gR1 AN &1 1 i UIeuyids ol 118 § 7
1. ST U]
. aunffe
OTNR 998
4, HiOTHT
Options :
686340178217. 1
686340178218. 2

686340178219. 3
686340178220. 4

| ]

L

Question Number : 56 Question Id : 68634045115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Text books Samkhya Sutra & Samkhya Pravachan Bhashya 1s written by
1. Vigyan Bhikshu
2. Maharshi Kapila
3. Aasuri

4., Panchashikha

Options :
686340178221. 1



686340178222. 2
686340178223. 3
686340178224. 4

Question Number : 56 Question Id : 68634045115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hie-Y4 d 9ied Uae- U UTed G CaE RIEE
1. fam firgg

RHEEIER
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Options :

686340178221. 1
686340178222. 2
686340178223. 3
686340178224. 4

Question Number : 57 Question Id : 68634045116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Shrimadbhagavadgita is written by

1. Maharshi Patanjali

[ ]

. Maharshi Panini

LF¥]

. Maharshi Vashishtha
4. Maharshi Vyas

Options :

686340178225. 1
686340178226. 2
686340178227. 3
686340178228. 4

Question Number : 57 Question Id : 68634045116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEESHERHIG] GRS & |
1. gy gesifar
2. gt arforT
3. Hefi afyy
4. B =Ty

Options :

686340178225. 1
686340178226. 2
686340178227. 3
686340178228. 4

Question Number : 58 Question Id : 68634045117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

How many shlokas are there in text book '"Yoga Beej' written by Mahayogi Gorakhnath?

1. 288

(3=

. 190
3.292
4. 290
Options :
686340178229. 1
686340178230. 2

686340178231. 3
686340178232. 4

Question Number : 58 Question Id : 68634045117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e TIRGATY & R [erd! 715, ured G&is rT dlier H fhd- a6 2

1. 288

| )

. 190
3.202
4. 200

Options :
686340178229. 1



686340178230. 2
686340178231. 3
686340178232. 4

Question Number : 59 Question Id : 68634045118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following King was taught the Ghatasth-Yog by Yogi-Shri Gherand ?
1. Raja Bhartrihari
2. Raja Chandkapali
3. Raja Janak
4. Raja Prikshit
Options :
686340178233. 1
686340178234. 2

686340178235. 3
686340178236. 4

Question Number : 59 Question Id : 68634045118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
anft ot tRus A Fafafaa § 9 fow e & gew anT 3t Rien i e
I.Q'IEET‘J-I(‘EE?

2. IS I HUTal

EREIRSEET

4, I Gifa

Options :

686340178233. 1
686340178234. 2
686340178235. 3
686340178236. 4

Question Number : 60 Question Id : 68634045119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name the Yoga Guru of Swami Dhirendra Brahmachari is

1. Swami Kartikeya

2

. Bengali Baba
3. Swamu Shivananda Saraswati

4, Swami Rama

Options :

686340178237. 1
686340178238. 2
686340178239. 3
686340178240. 4

Question Number : 60 Question Id : 68634045119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W ¥R SRR & TR TR BT 11 §-
1. S iidea

ECHIGIGIGIl

 TarH! g Il

4, I

Options :

686340178237. 1
686340178238. 2
686340178239. 3
686340178240. 4

| )
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Question Number : 61 Question Id : 68634045120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the Guru of Swami Satyananda Saraswati ?

1. Swami Niranjananda Sarswati

[ )

. Swami Chinmayanandaji

3. Swami Ram

4. Swami Shivananda Sarswati
Options :

686340178241. 1
686340178242. 2



686340178243. 3
686340178244. 4

Question Number : 61 Question Id : 68634045120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wl S-S SR & R DI U 2
1. Tl A<
T} el
T I
4. T} fRIar< IRl

Options :

686340178241. 1
686340178242. 2
686340178243. 3
686340178244. 4

| )
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Question Number : 62 Question Id : 68634045121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year National Eligibility Test in Yoga started?

1. Year 2015

[ )

. Year 2016

L%

. Year 2017
4, Year 2018

Options :

686340178245. 1
686340178246. 2
686340178247. 3
686340178248. 4

Question Number : 62 Question Id : 68634045121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g o 1 R H AP IR gRiaT B RS DTS 2
1. 94 2015

.ay 2016

ay 2017

4,99 2018

Options :

686340178245. 1
686340178246. 2
686340178247. 3
686340178248. 4

| )

L

Question Number : 63 Question Id : 68634045122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following day 1s celebrated as International Day of Yoga?

1. 21 May

| )

.21 June

%]

. 21 July
4. 21 August

Options :

686340178249. 1
686340178250. 2
686340178251. 3
686340178252. 4

Question Number : 63 Question Id : 68634045122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 5 A i 1 g SmRiyTa A fead & o0 o Hem1 S & 2
1. 2143
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3.21 q@lg
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| )

Options :
686340178249. 1



686340178250. 2
686340178251. 3
686340178252. 4

Question Number : 64 Question Id : 68634045123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"Yoga Makaranda' a text book of Yoga is written by

1. Swami Ram
2. Maharshi Patanjali
3. Swami Ramdev
4. T Krishnamacharya

Options :

686340178253. 1

686340178254. 2

686340178255. 3
686340178256. 4

Question Number : 64 Question Id : 68634045123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. TarHl |
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Options :

686340178253. 1
686340178254. 2
686340178255. 3
686340178256. 4

| )
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Question Number : 65 Question Id : 68634045124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Transcedental Meditation is given by

1. Ramana Maharshi

| B

. Swami Vivekananda
3. Maharshi Mahesh Yogi
4. T. Krishnamacharya

Options :

686340178257. 1
686340178258. 2
686340178259. 3
686340178260. 4

Question Number : 65 Question Id : 68634045124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
UTATdld & S gRIfag g |

AT T Ty

. XarHl fader<
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1. pumE

Options :

686340178257. 1
686340178258. 2
686340178259. 3
686340178260. 4
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Question Number : 66 Question Id : 68634045125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Vipassana is one of the oldest practices of Dhyana
Reason R: Vipassana is seeing the things as they are.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is not the correct explanation of A
3. A 1s correct but R is not correct

4. A is not correct but R is correct

Options :

686340178261. 1
686340178262. 2
686340178263. 3
686340178264. 4

Question Number : 66 Question Id : 68634045125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178261. 1
686340178262. 2
686340178263. 3
686340178264. 4

Question Number : 67 Question Id : 68634045126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Truthfulness and Non-violence are interconnected with each other.
Reason R: Because the results are same for both.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R is not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

686340178265. 1
686340178266. 2
686340178267. 3
686340178268. 4

Question Number : 67 Question Id : 68634045126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178265. 1
686340178266. 2
686340178267. 3
686340178268. 4

Question Number : 68 Question Id : 68634045127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Patanjali Yoga is widely identified as being the same as Raja Yoga.

Reason R: Raja Yoga is the science of mind.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A

2

. Both A and R are correct but R 1is not the correct explanation of A
3. A is correct but R is not correct

4, A 1s not correct but R is correct

Options :

686340178269. 1
686340178270. 2
686340178271. 3
686340178272. 4

Question Number : 68 Question Id : 68634045127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178269. 1
686340178270. 2
686340178271. 3
686340178272. 4

Question Number : 69 Question Id : 68634045128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: There are twenty-five mudras as mentioned in Ghatasth Yoga Sadhana

Reason R: Ghatastha or Saptanga Yoga Sadhana propounded by Sage Gheranda.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R is not false

4, A is not true but R is false

Options :

686340178273. 1
686340178274. 2
686340178275. 3
686340178276. 4

Question Number : 69 Question Id : 68634045128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340178273. 1
686340178274. 2
686340178275. 3
686340178276. 4

Question Number : 70 Question Id : 68634045129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one 1s labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Yoga has potential to ensure the tranquility and peace of mind.
Reason R: Regular practice of Yoga bring about stability. happiness and lightness of body as well as mind.
In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. A is true but R 1= not false

4, A 1s not true but R is false

Options :

686340178277. 1
686340178278. 2
686340178279. 3
686340178280. 4

Question Number : 70 Question Id : 68634045129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE S PuT RU MU § - U@ 3@y <3 U1 S3RT ‘& HRUN S 39 fomm mm &-
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Options :

686340178277. 1
686340178278. 2
686340178279. 3
686340178280. 4

Question Number : 71 Question Id : 68634045130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Pashchimottanasana and Padhahastasana are forward bending Asanas.

Reason R: Forward bending Asana makes practitioner introvert in nature.

In the light of the above statements. choose the mosr appropriate answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2

. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R is false

4, A 1s false but R is true

Options :

686340178281. 1
686340178282. 2
686340178283. 3
686340178284. 4

Question Number : 71 Question Id : 68634045130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

H U UM - TP AU <of TUT GIRT & RO S $U | fear T 3-
SFHFYT (3) : UILEHRIFIE @ UIGEEIE 31 Fb+ aTel SHT T |

BT (P) : ST Feb alel ATEH SR DI <& Ui DI E |

SWIad PYT & YR R, - 3 Y fdeedl § 9 9ugad SR &1 -1 SIfeU -

1. (31) TYT (&) SIFT ol & TUT (@), (37) B et TRaAT B

[

- (30) QYT () BIF1 Tel & U (), () Bl Fg! oURAT Tel § |
(3) 981 § R (F) Tad o

L]

4, (30) T9d & U (P) TGl ¢ |

Options :

686340178281. 1
686340178282. 2
686340178283. 3
686340178284. 4

Question Number : 72 Question Id : 68634045131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A: Suryanamaskara is a holistic Yogic practice.
Reason R: If practiced properly. Suryanamaskara has systematic steps of Asanas and breathing.
In the light of the above statements. choose the mosr appropriate answer from the options given below:
1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A is true but R is false
4. A 1s not false but R is true
Options :
686340178285. 1
686340178286. 2

686340178287. 3
686340178288. 4

Question Number : 72 Question Id : 68634045131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HE S PuT RU MU § - U@ 3@y <3 U1 S3RT ‘& HRUN S 39 fomm mm &-
STUTY (3f) : GUATEDPR U T TR ¢ |
BRI (P) : TG SIop F LY (BT &L df FUTHHR H 189 9 a1 SR YA & s aUl 6 |
SWRIFd DYl & YR W, 1 34U 7Y fdevedi T I Iuged SR &1 19 St -
(30) TUT (@) S ol § aUl (@), (3f) B! g! ARAT &

—

-2

. (30) QYT (@) GIF1 Hel & R (). () P el WA &1 o |

LFN]

(31) T8I § IR (P) Tad 8
4. (3) 1T € IR (P) Fe1 S |

Options :

686340178285. 1
686340178286. 2
686340178287. 3
686340178288. 4

Question Number : 73 Question Id : 68634045132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Chakras in correct sequential order from top to bottom in human body according to
Hath Yogic Literature-

A Manipurak
B. Anahat

C. Ajna

D. Mooladhara
E. Vishuddhi

Choose the correct answer from the options given below:

LGCE BAD

b2

B,ADEC
oA C DBE
4 A B CDE

Options :

686340178289. 1
686340178290. 2
686340178291. 3
686340178292. 4

Question Number : 73 Question Id : 68634045132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T3-UI HIfgd & HTHR UFG-TRR T (9 Il &1 HIR I A1 o1 R 98! PUMER o0aiyd SIf :

A TS
B. 3ATed
C. 31T
D. HelleR
E fagfs
19 fdu Tt fasedl § 9 Ul STR &1 19 SIS :

1.C.E.B.A.D

[ ]

BADEE
3.3JA.C.D.B.E
4. A B C.DE

Options :

686340178289. 1
686340178290. 2
686340178291. 3
686340178292. 4



Question Number : 74 Question Id : 68634045133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Write correct sequence from subtle to gross:

A. Eather (Aakash)
B. Water Jal)

C. Fire (Agni)

D. Air (Vayu)

E. Earth (Prithvi)

Choose the correct answer from the options given below:

1.B.A.D.C.E

[ ]

2D AB.E
3.E.B.C,A,D
4. A. D, C.B.E

Options :

686340178293. 1
686340178294. 2
686340178295. 3
686340178296. 4

Question Number : 74 Question Id : 68634045133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y&H I A B AR Hel pAIIR faf@y

A, THT
B. ol
c. A

D.dig
E. gt

i AU 7Y fasedi o T Tel GTR &1 I-1d HIoiw :

1.B.ADCE

| ]

(E, D AR E
3.0, B G AT
4.A.D.C.B.E

Options :

686340178293. 1
686340178294. 2



686340178295. 3
686340178296. 4

Question Number : 75 Question Id : 68634045134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following "Awasthas' in a sequential order :

A. Arambha-Awastha

B. Ghata-Awastha

C. Piercing through the Susumna
D. Parichaya-awastha

E. Nishpatti-awastha

Choose the correct answer trom the options given below:
1L.AEDCE
2.B.C.AB.D
3.C.E,B,D;A

4. C.A.B.D.E

Options :

686340178297. 1
686340178298. 2
686340178299. 3
686340178300. 4

Question Number : 75 Question Id : 68634045134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 RT3l ® PR Faiedd S -

A 3R - 3G

B. Ue- 3a&l

C. YuHIT & g4 § Ul
D. GREYT gl

E. ey sraer

i AU 7Y fasedi o T Tel GTR &1 I-1d HIoiw :

1LAEDCB

| ]

B, EAB. D

3.C,E.B.D.A

4.C,A,B, D, E



Options :

686340178297. 1
686340178298. 2
686340178299. 3
686340178300. 4

Question Number : 76 Question Id : 68634045135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following steps of Ashtanga Yoga in sequential order.

A. Samadhi
B. Dhyana

C. Dharana
D. Pratyahara
E. Pranayama

Choose the correct answer trom the options given below:

LLE.D.C/B.A

[

B A TH T
3.D.E.C.B.A
4 B.C.A.E.D

Options :

686340178301. 1
686340178302. 2
686340178303. 3
686340178304. 4

Question Number : 76 Question Id : 68634045135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SHERT AN & 74 =ROT &1 YR SAdiedd DIy

A A
B. &
C. RUT

D. Udigl¥
E. UIOTIg1H

i AU 7Y fasedi o T Tel GTR &1 I-1d HIoiw :

1LEDLC B A

| ]

JE, BLACE. D
3.D,E.C.B.A
4.B.C.AE.D

Options :

686340178301. 1
686340178302. 2
686340178303. 3
686340178304. 4

Question Number : 77 Question Id : 68634045136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the sequence of the process of Kundalini Awakening?

A. Muladhara
B. Swadishthan
C. Manipurak
D. Anahat

E. Vishuddhi

Choose the correct answer trom the options given below:
LAEBGCD
2.A,C. DB, E
3.A,B,CD.E
4. E.D.C.B.A
Options :
686340178305. 1
686340178306. 2

686340178307. 3
686340178308. 4



Question Number : 77 Question Id : 68634045136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HSleHl SFRU &1 Yishal I PR Hg ey PIfo :

A AR
B. WI§H
C. AIUTR®

D. JH-lgd

E. fagfs
19 f3u Tt fasedl § 9 U1 3R &1 1 Bifw:

1A E BC D

[ ]

A D BE
3JA.B.C.D.E
4 B. D€ B, A

Options :

686340178305. 1
686340178306. 2
686340178307. 3
686340178308. 4

Question Number : 78 Question Id : 68634045137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the folllowing Niyamas in a sequential order :
A. Svadhyaya or self-study
B. Santosa or contentment
C. Tapa or austerity
D. Saucha or Purity
E. Isvara-pranidhana or swrender to Almighty.

Choose the correct answer from the options given below:

1.B.C.DAE

[ B)

CDLE B A
3D.B,C.AE
4. D.C.B.E.A

Options :

686340178309. 1

686340178310. 2
686340178311. 3



686340178312. 4

Question Number : 78 Question Id : 68634045137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHYR Haiyd SIS :

A, WY
B. Idiy
C.dd

D. 94

E. SYaR-Tfre=
i fau Y fas el § T HEl 9Tk &1 IH1d HII :

1.8, DA R

| ]

E B BB A
3.30.B.C.AE
4 D.C.B.E.A

Options :

686340178309. 1
686340178310. 2
686340178311. 3
686340178312. 4

Question Number : 79 Question Id : 68634045138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

There are four chapters (Padi) in Patanjali Yoga Sutra written by Maharshi Patanjali. Arrange them in sequence

A. Samadhi Pad

B. Vibhuti Pad

C. Sadhan Pad

D. Kaivalya Pad

Choose the correct answer from the options given below:

1.LAB.C.D

2B.ACD

33A.CB.D

4.C.D.B.A

Options :
686340178313. 1



686340178314. 2
686340178315. 3
686340178316. 4

Question Number : 79 Question Id : 68634045138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tely auie gRI folad gn-g3 & IR U § | 35 IR oiaiyd Bife -

A. THIE g1g
B. fayfa urg

C. J1eH UTe
D. Pacg U5

i< fau 7Y fae el o I Tel TR &1 g9 S :

1LLAB.ED

2

.B.A.C.D
3JACB.D
4.C.D.B. A

Options :

686340178313. 1
686340178314. 2
686340178315. 3
686340178316. 4

Question Number : 80 Question Id : 68634045139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The first chapter of Hatha Pradeepika is Shatkarma.

Statement IT: The first chapter of Gheranda Sambhita 1s Asana.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement [ is incorrect but Statement II is correct
Options :
686340178317. 1
686340178318. 2

686340178319. 3
686340178320. 4



Question Number : 80 Question Id : 68634045139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T PUTRUTUE

YT : §3 VSIS &1 UYH 00 NeFHH o

YT 11 : TS Tedl & TUH 40 AT 8 |

SWiad HYHl & 3feils H, -1 f3u U fas eyl § I el Suged IR & 999 DI

1. BY 1 aUT I ST Tl Bl

HYF 1 AYTII SF TTad g

[

L]

 HYUF 1 Hel §. R YA 11 7Teid g

=Y

YA 17T ©, TR U 11 e B

Options :

686340178317. 1
686340178318. 2
686340178319. 3
686340178320. 4

Question Number : 81 Question Id : 68634045140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: "dhi" is the higher and mterior portion of the mind (manas) in the context of meditation.
Statement IT: "dhi" is the faculty of diserimination

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect

L¥¥]

. Statement [ is correct but Statement I is incorrect

4. Statement [ is incorrect but Statement I1 is correct

Options :

686340178321. 1
686340178322. 2
686340178323. 3
686340178324. 4

Question Number : 81 Question Id : 68634045140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CI AR AIE R

PYTL: AE S Jeu & 77 o1 o a T=sR g |

YT 11 : U G s S grgarg |

SWRIgd Yl & el H, i fGu U fae el § 9 999 Suged 9Tk &1 98- Sifol:

1. B 1 AT & Iel g

2. BYF 1 AYUT I S TTad g |

3. BYA e 5. URg B 11 7Ad 6 |
4. U 1 TT0d &. U] HY 11 981 5|

Options :

686340178321. 1
686340178322. 2
686340178323. 3
686340178324. 4

Question Number : 82 Question Id : 68634045141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Yoga is a cult with mysticism.

Statement II: Yoga is self-mortification and the activity need efforts.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect
3. Statement I is correct and Statement II is incorrect

4, Statement [ is incorrect and Statement II is correct

Options :

686340178325. 1
686340178326. 2
686340178327. 3
686340178328. 4

Question Number : 82 Question Id : 68634045141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- al By fag e &

U 1 - TR U el AT USRI |

U 11 : TN TR § HR S8 Tiaararel & g i &1 e § |
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1. FYA 1 AUTI &1 T

HYT I AYTIL S TTad g
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 HYF 1 Hel . R YA 11 7Ted g

L¥ ]

 BYT 1A §, TRed FY 1L TR B

e

Options :

686340178325. 1
686340178326. 2
686340178327. 3
686340178328. 4

Question Number : 83 Question Id : 68634045142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: "Yogah karmasu Kaushalam"

Statement IT:Yoga is not a skillful action.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I 15 correct but Statement II is incorrect

4. Statement [ is incorrect but Statement II is correct

Options :

686340178329. 1
686340178330. 2
686340178331. 3
686340178332. 4

Question Number : 83 Question Id : 68634045142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g Py Ry MU E

BYF 1 : “TIT: HHY BT

HYFI1 : TF Pls P 10T o1 © |

SWRIgd Yl & el H, i fGu U fae el 1 9 999 Suged 9Tk &1 98- Sifele:

1. B 1 AT & Iel g

2. BYF 1 AYUT I S TTad g |

3. BYA e 5. URg B 11 7Ad 6 |
4. U 1 TT0d &. U] HY 11 981 5|

Options :

686340178329. 1
686340178330. 2
686340178331. 3
686340178332. 4

Question Number : 84 Question Id : 68634045143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Kaivalya is being free from the attributes of Prakriti.

Statement II: Prakriti is associated with Purusha (Soul).

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement I are true

| )

. Both Statement I and Statement II are false
3. Statement I is true but Statement IT is false

4, Statement [ is false but Statement II is true

Options :

686340178333. 1
686340178334. 2
686340178335. 3
686340178336. 4

Question Number : 84 Question Id : 68634045143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERARAIE R

HYT I : Hacd UPpid & 01 Y R SHI ¢ |

HYF 11 : UHi. o9 & q1Y TG ¢ |

SWRIGd PYH & ATa® J, A= 4T U o el & 9 963 Iugad SR P 997 DI
1L FU I IR PUT I TR 5 |
2. EFI PYA T AR Y11 7Td & |
3. BYTI Hel g, dlichd HYH I17Ad g

4. BYF 179 B, AfdT HU 11 T8l 8

Options :

686340178333. 1
686340178334. 2
686340178335.3
686340178336. 4

Question Number : 85 Question Id : 68634045144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Yoga needs a lot of mental concentration.

Statement IT: Yogo is not a way of life.

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

[

. Both Statement I and Statement I are false

L¥]

. Statement I is true but Statement II 1s false

4, Statement I is false but Statement IT 1s true

Options :

686340178337. 1
686340178338. 2
686340178339. 3
686340178340. 4

Question Number : 85 Question Id : 68634045144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fa gy T U E:

FYA 1 : AT & o0 e A UaHHdl & avgadl g |

HY 11 : G U Siig ofi4 Bl Far sl ¢ |

SWRIgd Yl & el H, i fGu U fde el 1 9 999 Suged 9Tk &1 99 Sifole:

1. &I PU 1 R PYF I Hol ¢ |
2. T YA T SR Y 11 7T & |
3. ®YH 1 Hel ©. Al HYF 11 710d 6 |
4. DY 1T §. Afeb HYT 11 81 &

Options :

686340178337. 1
686340178338. 2
686340178339. 3
686340178340. 4

Question Number : 86 Question Id : 68634045145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: There are 25 elements in the Sankhya Yoga.
Statement IT: There are 26 elements in the Yoga Darshana.
In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true

2. Statement I and Statement IT are false

L]

. Statement I is true but Statement II is false

4, Statement I is false but Statement IT 1s true

Options :

686340178341. 1
686340178342. 2
686340178343. 3
686340178344. 4

Question Number : 86 Question Id : 68634045145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TPy RU T T

FYA1: GRA M & AER A 25 d@ © |

FYUA I : AM G B HTER DA 26 AA ¢ |

SWRIGd PUHT & ATe® J, H= 4T U foedl & 9 963 Iugad SR P 997 DI
1. FUF I IR PUT I TR 5 |
2. T YA T SR Y 11 7T & |
3. BYA G 6. Al U A © |

4. HYF 179 B, Al HU 11 T8I 8

Options :

686340178341. 1
686340178342. 2
686340178343. 3
686340178344. 4

Question Number : 87 Question Id : 68634045146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the social conduct from the given below:

A. Purity {Shaucha}

B. Non-Hoarding {Aparigraha}

C. Contentment {Santosh}

D. Satya

E. Surrender to God (Iswar Pranidhana)

Choose the correct answer from the options given below:
1. Aand B only
2. B and D only
3.B and C only

4, D and E only

Options :

686340178345. 1
686340178346. 2
686340178347. 3
686340178348. 4

Question Number : 87 Question Id : 68634045146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT
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C. =y

D. T

E. SR U0t

i fau U fasedi § Qe Ted &1 I-1d HIoTT |
1. %A A 3R B
2.%ad B AR D
3.%adB AR C
4. $TAD ARE

Options :

686340178345. 1
686340178346. 2
686340178347. 3
686340178348. 4

Question Number : 88 Question Id : 68634045147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which is not an obstacle in Yoga Sadhana. according to Patanjali?

A. Dullness
B. Doubt

C. Dilligence
D. Vyadhi

E. Patience

Choose the correct answer from the options given below:

1. Aand D only

[ )

. C and E only
3. Aand C only
4. A and E only

Options :

686340178349. 1
686340178350. 2
686340178351. 3
686340178352. 4

Question Number : 88 Question Id : 68634045147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Goisifcl & SUR [ J DIH-BH I FIe=1 H a4 781 6 2

A, HRgar

B. <8 (J3@)
C. @

D. &1f¢

E 44

14 fau Y fased! & 9 981 SR &1 G S :
1. A A 3R D
2.%ad C ARE
3. PAAAIARC
4.%ad A RE

Options :

686340178349. 1
686340178350. 2
686340178351. 3
686340178352. 4

Question Number : 89 Question Id : 68634045148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are not the parts of Ashtang Yoga of Patanjali ?

A YAMA

B. NIYAMA

C. PEANAYAMA
D. MITAHARA
E. SANYASA

Choose the correct answer from the options given below:

1. Aand B only

| )

. C and D only
3. Aand D only

4. D and E only

Options :

686340178353. 1
686340178354. 2
686340178355. 3
686340178356. 4



Question Number : 89 Question Id : 68634045148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= H Ao gduia AP AR & ST el © |
ATgH
B. Fom
C. HIomarH
D. fBdigR
E. 9919

i< fau 7Y fae et o I Tel TR &1 g9 S :
1. A A AR B
2. FIAC IRD
3. Had A IRD
4. FFAD ARE

Options :

686340178353. 1
686340178354. 2
686340178355. 3
686340178356. 4

Question Number : 90 Question Id : 68634045149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following asanas are for Balancing ?
A. Shirshasana
B. Ardhamatsyendrasana

C. Vrikshasana (Ek Pad Pranamasana)
D. Vajrasana

Choose the correct answer from the options given below:
1. A Conly
2.B. Conly
3.B.C.Donly
4. A.B.D only
Options :

686340178357. 1
686340178358. 2



686340178359. 3
686340178360. 4

Question Number : 90 Question Id : 68634045149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FE T Y-S ¥ S Iqad ard @ 2

A, TiEgT

B. HGHESEA

C. F&THA (TP YTE HUIH 3{THH)
D. I

- feu e foeedi & 9 98l SR i -
1. Pae A SR C
2. PaAB AR C
3. 94U B.C3RD
4. PaAA. B AR D

Options :

686340178357. 1
686340178358. 2
686340178359. 3
686340178360. 4

Question Number : 91 Question Id : 68634045150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ultimate purpose of Yoga is to achieve:

A. Good Health
B. Inner Satisfaction
C. Kaivalya
D. Absolute cessation of all fluctuations of mind
E. Stress Free Mind
Choose the correct answer from the options given below:
1. Aand C only
2. B and C only
3.B and E only
4. C and D only

Options :



686340178361. 1
686340178362. 2
686340178363. 3
686340178364. 4

Question Number : 91 Question Id : 68634045150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

N1 1 =RH Ted U HRATE |
A, T SR
e
D. i &1 gfal @1 qoreuo 1
E. 319 fed afiass
1 fau 7Y faeed! # 9 98l SR @1 @ B :
1. Pad AR C
2. FHaAB IR C
3. %dd B AR E

4. HFAC IR D

Options :

686340178361. 1
686340178362. 2
686340178363. 3
686340178364. 4

Question Number : 92 Question Id : 68634045151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not related to Chittaprasadam (Pleasant state of mind)?

A. Maitri
B. Styama
C. Karnma
D. Mudita
E. Pramada

Choose the correct answer from the options given below:

1. Aand B only

[ )

. A and C only
3.Band C only

4. B and E only

Options :

686340178365. 1
686340178366. 2
686340178367. 3
686340178368. 4

Question Number : 92 Question Id : 68634045151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 1 8 219 9 Rwers (R &1 ggean g4 e o |

A, Tt
B. TIH

C. BB
D. Hfed
E. YHIG
- feu T fowedt & 9 98l @1 gema Sifor -
1. Pad A 3R B
2. FaTAARC
3. HIAB IR C

4. FaAB AR E

Options :

686340178365. 1
686340178366. 2
686340178367. 3
686340178368. 4



Question Number : 93 Question Id : 68634045152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yogic practices that are used to purify the head region:
A. Sutra Neti
B. Karnrandhra

C. Kapalrandhra
D. Basti

Choose the correct answer from the options given below:

1. A. B and D only

| )

.A.B. Conly
3. A. D only
4. B. C only
Options :
686340178369. 1
686340178370. 2

686340178371. 3
686340178372. 4

Question Number : 93 Question Id : 68634045152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AITe forant ol far RR & Y &1 W (YS5) PR S |
A A
B, HURAY
C. PURRA
D. g%
1= f3u Tt fas el # 9 U5l SR &1 19 SIS :
1. HFATA.BIARD
2. HIATA. B3R C
3. Had ARD
4. HIAB 3R C
Options :
686340178369. 1
686340178370. 2

686340178371. 3
686340178372. 4



Question Number : 94 Question Id : 68634045153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Yoga Sudhakar 1. |Ramananda
Maniprabha II. |T. Krishnamacharya

Yoga Makaranda | IT1. |[Sadashivendra Saraswati
Vivek Chudamaniy] IV. |[Aacharva Shankar

e

Choose the correct answer from the options given below:

1. A-I. B-II, C-III. D-IV

| )

. A-TIL B-1. C-II. D-IV
3. A-IL B-I. C-III, D-IV
4. A-IV, B-III. C-II. D-I

Options :

686340178373. 1
686340178374. 2
686340178375. 3
686340178376. 4

Question Number : 94 Question Id : 68634045153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
Gl T
A [EFrgyer | L fEEw
B. [Afomgy 1. [&. pwmHE
C priass |1l [garikes 9]
D. [[addgs™in | 1v [amard gie

fafarad fawent § T 96l SR &1 997 SO -

1. A-I,B-II. C-IIT, D-IV

| o

CA-IIT, B-1, C-II, D-IV
JOAII.B-1.C-IIT, D-IV
4 A-IV.B-III ,C-II.D-1
Options :

686340178373. 1
686340178374. 2



686340178375. 3
686340178376. 4

Question Number : 95 Question Id : 68634045154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII J
Koshas {Sheath} A ctivity to developmen
Vigvanamava Koshal I [Mind

Pranamava Kosha | II. [Energw
Manomava Kosha | 111 |Gross Body
Annamaya Kosha | IV [Knowledge

T REE

Choose the correct answer from the options given below:

1. A-III, B-IV. C-II. D-I

[ ]

AL B-IV. C-I, D-II
3. A-IV, B-I1I, C-I, D-III
4. A-III. B-1I. C-IV. D-I

Options :

686340178377. 1
686340178378. 2
686340178379. 3
686340178380. 4

Question Number : 95 Question Id : 68634045154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
T I Tt I
A fggrgaem | 1L [
B. wurg N | 1. [@fed
C. TN | FRR
D |{~THO BN |IV. [

FfaiRad f[deedl § O Uel 3ok &l 944 DI

1LA-III.B-IV,C-II.D-1

|

CA-IIT L, B-IV, C-I,D-11

3A-IV.B-II,.C-I.D-111

4 A-IIT,B-II. C-IV . D-1



Options :

686340178377. 1
686340178378. 2
686340178379. 3
686340178380. 4

Question Number : 96 Question Id : 68634045155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
A |Dhauti I. |Eve Cleansing
B. Basti II. [Nasal Cleansing
C. [Nen ITI. |Colon Cleansing
D |Trataka IV |Stomach Cleansing

Choose the correct answer trom the options given below:

1. A-II. B-L. C-III. D-IV

| ]

. A-L B-II, C-II1. D-IV
3. A-III, B-IV. C-I, D-II
4. A-IV, B-1II. C-II, D-I

Options :

686340178381. 1
686340178382. 2
686340178383. 3
686340178384. 4

Question Number : 96 Question Id : 68634045155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 ¥ [ Sifor

T 1 T 1
A [¢fifd L Hagig
B. [t 1. [T g
C. [fd T11. [FT=TY 2
D. [Aled V. | e
frafeiad faeeal & 9 9t g @1 Ig1 Sifo -

1.LA-II.B-I.C-III . D-1IV

| o

CA-LLUB-ILL C-IODL, D- IV
AN, B-IV.C-I.D-1I
4. A-IV . B-III, C-II . D-I

Options :

686340178381. 1
686340178382. 2
686340178383. 3
686340178384. 4

Question Number : 97 Question Id : 68634045156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LIST II
A |Pranayama 1. |Control over senses|
B. |Pratvahara II. |Control on breath
C. |Asana 1. [Liberation
D. [Samadhi IV |Conirol on posture

Choose the correct answer trom the options given below:

1. A-IV, B-III. C-I. D-II

| ]

CA-IV. B-11. C-1, D-IIT
3. A-IL B-1. C-IV., D-III
4. A-IV, B-III. C-II. D-I

Options :

686340178385. 1
686340178386. 2
686340178387. 3
686340178388. 4



Question Number : 97 Question Id : 68634045156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 gl 11 9 e Siforg
T I T I
A_ [oTomarg 1 [g=m U dage
B. [UdER 11 [5ary g
C. |3m8d 111 |5
D. [gHTfe IV, B ga1 | FRE
Fafeiad fadedl O U U3l STk &1 99 Iy -

1LA-IV,B-IIl.C-I.D-1I

|

CA-IV . B-ILL G-I, D-11I
JOA-ILLB-I.,C-IV.,D-1II
4. A-IV.B-III.C-1.D-1

Options :

686340178385. 1
686340178386. 2
686340178387. 3
686340178388. 4

Question Number : 98 Question Id : 68634045157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Akasha I. |Shabda
B. [Vayu II. [Ras
C. JAgm II1. |Sparsh
D._ JJal IV |[Roop

Choose the correct answer from the options given below:

1. A-I. B-1I. C-IV, D-III

| E)

. A-L B-II, C-III. D-IV
3. A-L B-II1, C-IV. D-II
4. A-IV, B-III. C-II, D-I

Options :

686340178389. 1

686340178390. 2
686340178391. 3



686340178392. 4

Question Number : 98 Question Id : 68634045157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 ¥ [ Sifor
T 1 T I
A | HIDT L [Hleg
B [amg I [
c. s TI1. o=l
D. [&e v [=g
FafeRad fasedl O © 981 STk &1 994 Sifoy ;

1.A-T.B-IT. C-IV . D-1II
2 Al .B-II.C-III, D-1IV
3AL . B-III., C-IV ,D-11
4. A-IV.B-III . C-II. DI

Options :

686340178389. 1

686340178390. 2

686340178391. 3
686340178392. 4

Question Number : 99 Question Id : 68634045158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Who? Related with
A |Shri Aurbindo I. |Divine Love
B. [Ramakrishna Paramahansal II. [Integral Yoga
C. [Swami Swatmaram I11. |JAdwaitavedantal
D. [Shankaracharva IV [Hatha Yoga

Choose the correct answer from the options given below:

1. A-II, B-I, C-III. D-IV

| ]

A-IL B-IIL C-I. D-IV

LFS]

CA-IL B-LL C-IV, D-III
4. A-IV. B-IIL. C-II. D-I

Options :



686340178393. 1
686340178394. 2
686340178395. 3
686340178396. 4

Question Number : 99 Question Id : 68634045158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1 1 Yl 1 ¥ fieH sifore
T 1 T I

ot 3fd= I [&gud
RIESHW RAed| [L [§99 T1
T SR | 101 [orad dard
BEREIU] V. [go amT

frafarad fawel & I 96l IR &1 994 DI -

1.LA-IT,B-I. C-III, D-1IV

REE

|

CA-ITLB-IIT, C-1, D-1IV
3 A-II.B-1.C-IV.D-III
4. A-IV . B-III. C-II. D-I

Options :

686340178393. 1
686340178394. 2
686340178395. 3
686340178396. 4

Question Number : 100 Question Id : 68634045159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Books {Texts} Historical Period
[Upanishads 1. |Classical Time

Bhagawad Gita II. [Medieval Time
Patanjali Yoga Sutra) II1. |Pre-Classical Time
Goraksha Samhita | IV [Vedic Time

T REE

Choose the correct answer from the options given below:
1. A-IV. B-IIL. C-I, D-IT
2. A-IV. B-III. C-II, D-I
3. A-IV, B-II, C-III, D-I
4. A-IIT . B-II, C-I, D-IV

Options :

686340178397. 1
686340178398. 2
686340178399. 3
686340178400. 4

Question Number : 100 Question Id : 68634045159 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 [ Siforn

T 1 A 11
ERIEEM I [RIR g7
yagiiar | I [FeEgm
Gofaiiel T3] 11 [od Sy 3o
Reied | 1v [afde® @rd @)

e [deedl © 1 Ut 3 &1 994 Bl :

1.A-IV . B-IIl . C-I..D-1I

ofolwF

2 AIV.B-IIT, C-IT. D-1
3.AIV,.B-II, C-III , D-I
4 A-IIT,B-II. C-I,D-IV

Options :

686340178397.
686340178398.
686340178399.
686340178400.

AW NN =



